MAP4C – Algebra Practice for Playdoh/Water/Paper Problems
	SHAPE
	SURFACE AREA
	VOLUME
	SHAPE
	PERIMETER
	AREA

	Sphere
	[image: ]
	[image: ]
	Circle
	[image: ]
[image: ]
	[image: ]

	Cylinder
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	Square
	[image: ]
(s=side length)
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	Cube
	[image: ](b=side length) 
	[image: ]



In each case, use the appropriate formula to solve for the missing dimension.
	Shape: Circle
	Given: C = 30 cm
	Find: r
	Shape: Circle
	Given: 
Area = 50 cm2
	Find: r

	1. 










	2. 

	Shape: Square
	Given: 
Perimeter = 30cm
	Find: side length
	Shape: Square
	Given: 
Area = 60 cm2
	Find: side length

	3. 









	4. 

	Shape: Cylinder
	Given: r = 6 cm
V = 2000 cm3
	Find: h
	Shape: Cylinder
	Given: h = 20 cm
V = 1500 cm3
	Find: r

	5. 











	6. 

	Shape: Cube
	Given 
V = 4000 cm3
	Find: side length
	Shape: Cube
	Given: surface area = 700 cm2
	Find: side length

	7. 











	8. 

	Shape: Sphere
	Given: V = 200 cm3
	Find: radius
	Shape: Sphere
	Given: surface area = 1000 cm3
	Find: radius

	9. 











	10. 

	Shape: Cylinder
	Given: r = 7 cm,
S.A. = 500 cm2
	Find: height
	Shape: Cylinder
	Given: h = 10 cm
S.A. = 2000 cm2
	Find: radius

	11. 











	12. 



All done? Try these…
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ANSWERS  (I think)
1. R=4.8cm
2. R=4.0cm
3. S=7.5cm
4. B=7.7cm
5. H=17.7cm
6. R=4.9cm
7. B=15.9cm
8. B=10.8cm
9. R=3.6cm
10. R=8.9cm
11. H=4.4cm
12. [bookmark: _GoBack]R=?
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S= ‘27':1‘2 + 2nrh
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V= TU"2h
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S = 6h2
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V=pd
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A purse contains a collection of quarters, dimes, nickels, and pennies. The average
value of the coins in the purse is 17 cents. If a penny is removed from the purse,
the average value of the coins becomes 18 cents. How many nickels are in the
purse?
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A one-dollar coin should have a mass of 7.0 g. Each individual coin may be lighter
or heavier by as much as 2.14%. Joshua has a number of these coins and
determines that they have a total mass of 1 kg. What is the difference between the
greatest possible number and the least possible number of these coins that he could
have?
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S= 4m‘2
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C=2nr
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